

$$\begin{aligned}
 [P] &= -\omega^{-1} \varepsilon_z (m=0) = \frac{1}{2} p [i(M_{zy} - M_{yz}) \pm (M_{xz} - M_{zx})] \quad m=\pm 1 \\
 [S] &= \frac{1}{2} p [(M_{xx} + M_{yy}) - p M_{zz} (1 - 2\rho^2/\kappa^2)] (m=0) \\
 &= \frac{1}{2} \omega^{-1} (\mp \varepsilon_x + i \varepsilon_y) \quad (m=\pm 1) \\
 [T] &= \frac{1}{2} p (M_{xy} - M_{yx}) (m=0) = \frac{1}{2} \omega^{-1} (i \varepsilon_x \mp \varepsilon_y) \quad (m=\pm 1) \\
 [U] &= \frac{1}{4} p [\pm i (M_{xx} - M_{yy}) + (M_{xy} + M_{yz})] \quad m=\pm 2
 \end{aligned}$$

$$b(z) = P(z, z_0) b(z_0)$$

$$b_0 = P(z_0, z) b(z) = P^{-1}(z, z_0) b(z)$$

$$\partial_z b(z) - \omega A(z) b(z) = 0$$

$\times P^{-1}(z, z_0)$

$$P^{-1}(z, z_0) \partial_z b(z) - \omega P^{-1}(z, z_0) A(z) b(z) = 0$$

$$\hookrightarrow \frac{\partial}{\partial z} (P^{-1}(z, z_0) b(z)) = \frac{\partial}{\partial z} (P(z_0, z) b(z)) = \frac{\partial}{\partial z} b(z) = 0$$

$$\text{so } P^{-1}(z, z_0) \partial_z b(z) + \left( \frac{\partial}{\partial z} P^{-1}(z, z_0) \right) b(z) = 0$$

$$-\left( \frac{\partial}{\partial z} P^{-1}(z, z_0) \right) b(z) = \omega P^{-1}(z, z_0) A(z) b(z)$$

$$\partial_z P^{-1}(z, z_0) = -\omega P^{-1}(z, z_0) A(z)$$

==

now consider

$$\partial_z b(z) - \omega A(z) b(z) = F(z)$$

$$f_{ij} = \varepsilon_j \delta(x - x_0) - \partial_k M_{ijk} \delta(x - x_0)$$

Horizontal transforms get rid of  $\delta(x)$   $\delta(y)$  dependence.

but not  $\partial_z$ . This leaves form in form below.

$$[U] = M_{zz} / (\rho \kappa^2) \quad m=1$$

$$[V] = \frac{1}{2} (\pm M_{xz} - i M_{yz}) / (\rho \kappa^2) \quad m=\pm 1$$

$$[W] = \frac{1}{2} (\mp M_{yz} - i M_{xz}) / (\rho \kappa^2) \quad m=\pm 1$$

pgs 94-96, 43-44

See Remack's Book (9833) pgs 94-96, 4.

$$\frac{\partial}{\partial z} P^{-1}(z, z_0) = -\omega P^{-1}(z, z_0) A(z)$$

==

now consider

$$\frac{\partial}{\partial z} b(z) - \omega A(z) b(z) = F(z)$$

$$P^{-1}(z, z_0) \frac{\partial}{\partial z} b(z) - \omega \underbrace{P^{-1}(z, z_0) A(z)} b(z) = P^{-1}(z, z_0) F(z)$$

$$P^{-1}(z, z_0) \frac{\partial}{\partial z} (b(z)) + \left[ \frac{\partial}{\partial z} P^{-1}(z, z_0) \right] b(z) = P^{-1}(z, z_0) F(z)$$

$$\frac{\partial}{\partial z} \left( P^{-1}(z, z_0) b(z) \right) = P^{-1}(z, z_0) F(z)$$

$$P^{-1}(z, z_0) b(z) = c + \int_{z_0}^z P^{-1}(z', z_0) F(z') dz'$$

~~P^{-1}(z, z\_0) b\_0~~

$c = b_0$  as  $z \rightarrow z_0$   
 $\neq b_0 = c + 0$

$$b(z) = P(z, z_0) b_0 + \int_{z_0}^z P(z, z_0) P^{-1}(z', z_0) F(z') dz'$$

$$b(z) = P(z, z_0) b_0 + \int_{z_0}^z P(z, z_0) P(z, z') F(z') dz'$$

$$b(z) = P(z, z_0) b_0 + \int_{z_0}^z P(z, z') F(z') dz'$$

$\hookrightarrow I(z)$

$$F(z) = F_1 \delta(z - z_0) + F_2 \delta'(z - z_0)$$

$$P^{-1}(z, z_0) \frac{\partial}{\partial z} (b(z)) + \left[ \frac{\partial}{\partial z} P^{-1}(z, z_0) \right] b(z) = P^{-1}(z, z_0) F(z)$$

See Renact's Book

$$\mathcal{L}_z (P^{-1}(z, z_0) b(z)) = P^{-1}(z, z_0) F(z)$$

$$P^{-1}(z, z_0) b(z) = c + \int_{z_0}^z P^{-1}(z', z_0) F(z') dz'$$

$\downarrow b_0$ 
 $c = b_0$  even as limit  $z \rightarrow z_0$   
 $\neq b_0 = c + 0$

~~$$b(z) = P(z, z_0) b_0 + \int_{z_0}^z P(z, z_0) P^{-1}(z', z_0) F(z') dz'$$~~

$$b(z) = P(z, z_0) b_0 + \int_{z_0}^z P(z, z_0) P(z, z') F(z') dz'$$

$$b(z) = P(z, z_0) b_0 + \int_{z_0}^z P(z, z') F(z') dz'$$

$\rightarrow I(z)$

$$F(z) = F_1 \delta(z - z_s) + F_2 \delta'(z - z_s)$$

$$I(z) = \int_{z_0}^z P(z, z') [F_1 \delta(z' - z_s) + F_2 \delta'(z' - z_s)] dz'$$

~~$P(z, z_s)$~~

source equivalent to jump in motion - shear vector.

$$= \begin{cases} 0 & z < z_s \\ \int_{z_0}^z P(z, z_s) F_1 + \left. \frac{\partial P(z, z')}{\partial z'} \right|_{z'=z_s} F_2 & z > z_s \end{cases}$$

$$I(z_s) = \int_{z_0}^{z_s} P(z, z_s) F_1 + \left. \left[ \frac{\partial}{\partial z'} P(z_s, z') \right] \right|_{z'=z_s} F_2$$

$$= F_1 + \omega \Pi(z_s) F_2$$

$$P(z_s, z') = P^{-1}(z', z_s)$$

$$\mathcal{L}_{z'} P(z_s, z') = \mathcal{L}_{z'} P^{-1}(z', z_s)$$

$$= -\omega P^{-1}(z_s, z') \Pi(z_s)$$

$$= -\omega \Pi(z_s) \quad z' = z_s$$